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class Ball {
int posX; // X EE{E
int posY; // Y EE{Z
int speed; // RE—F

( int x, inty, ints) {

posX = X;
posY = vy;
speed = s;

}
void display() {
ellipse( posX, posY, 30, 30 );
}
void moveRight () {
posX += speed;
}
void moveLeft() {
posX —= speed;
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Ball [1balls=[ @ |

void setup (O {
size( 300, 330 );
for(int i=0; i ® | i++){
balls[i] =] @ J(i+15, i*10+15, i%5+1);
}
}
void draw() {
background (255) ;
for(int i=0; i ® | i++){
if(i%2=0){
balls[i].moveLeft () ;
} else {
balls[i].moveRight();
}
balls[i].display();
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Kei jiban myKeijiban = new Keijiban(_ @ ):
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int (101 lights;
int numH; // D%k
int numV; // #tD%

Keijiban( int h, int v ) {

numH = h;
numV = v;
lights = | ® |

for ( int y=0; y<numV; y++ ) {
for ( int x=0; x<numH; x++ ) {
lights[x][y] = (x+y)%2;

}
void display() {
for ( int y=0; y<numV; y++ ) {
for ( int x=0; x<numH; x++ ) {
if (lights[x]lyl == 1) {
fill( 255 0, 0); // *Ea

} else {
fill( 255, 255, 255); // A€
]
ellipse( x%20+10, y*20+10, 20, 20 );

}
void shift() {
int y=0;
while ( y<numV ) {
int x=0;
int temp = | @ B
while ( x < numX-1) {
lights[x][y] = |

X++,

]: temp;

y++;




